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QUESTION 1

Which of the following commands allow you to specify the partition? (Choose 3) 

A. bcp in 

B. insert 

C. reorg rebuild tablename 

D. truncate table 

E. update statistics 

Correct Answer: ADE 

 

QUESTION 2

Which of the following are minimally logged operations? (Choose 3) 

A. select * into table2 from table1 

B. insert table2 select * from table1 

C. dump transaction db1 to /dump/db1.tran 

D. dump transaction db1 withno_log 

E. truncate table table1 

Correct Answer: ADE 

 

QUESTION 3

Which of the following items are capable of having names that are over 30 characters in length? (Choose 3) 

A. constraint name 

B. user name 

C. table name 

D. cursor name 

E. default name 

Correct Answer: ACE 

 

QUESTION 4
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Given the following partial histogram from optdiag, what percentage of the rows for thiscolumn have a value of 500.00?
Step Weight Value 1 0.00000000 

3 0.00000000 

A. 0.0% 

B. 36.9% 

C. 7.1% 

D. 6.6% 

Correct Answer: A 

 

QUESTION 5

Which of the following is true regarding the execution of dbcc checkstorage? 

A. Named cache must be configured 

B. Large buffer pool must be configured 

C. Workspace segments must be configured 

D. Number of worker processes must be configured greater than 2 

Correct Answer: B 
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